28418 RE BEHEREEXFBEAORUEHE

Tri28E11H1BB7E B LETEEEXFESBRAORUVHTE

g & B =i AR B | HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,772 7,318 14,090 5,443 2& |WAEA 2K |RAEA| 2 |RABA 2& |RABEA
AFNHbig 3,338 3,507 6,845 2,140 I\ ithig 6,735 49 7,262 82 13,997 131 5,460 92
B &bl 5,636 5,893 11,529 3917 Kfihigk 3,326 14 3,507 11 6,833 25 2,174 25
=B 1,583 1,655 3,238 1,113 B S 5,636 58 5,853 64 11,489 122 3,942 109
K ilfi Hhig 2,072 2,155 4,227 1,373 = B ihig 1,582 13 1,634 18 3,216 31 1,104 29
B Fithis 859 916 1,775 563 Kt Hhig 2,053 23 2,151 24 4,204 47 1,375 36
B ibig 877 957 1,834 692 B = ith g 852 0 916 5 1,768 5 568 5
B EH2HE 21,137 22,401 43,538 15,241 B ithig 865 9 946 31 1,811 40 692 38
MEmLHE 21,049 166 22,269 235 43,318 401 15,315 334
&R (AT A kL) A 33 A9 A 18 A3 A5 A12 A13]  A12

HEREXSBRAQFNAEAERZSD.

Bt =i =1 HE
7 SAEA (T2 4) 160 225 385 321 ¥pi2811 B1ARE BEHEREFRSEBEAORUHE(HERADHA)

g & B Z | AD B | HER

I\ ihig 6,686 7,180 13,866 5,368
KFxhig 3,312 3,496 6,808 2,149
B Sithig 5578 5,789 11,367 3,833

= B b g 1,569 1,616 3,185 1,075
Klfi high 2,030 2,127 4,157 1,339
BA = Bhigk 852 911 1,763 563
1 5 Hhig 856 915 1,771 654
MEmLHE 20,883 | 22,034 42917 | 14,981
¥E (R A L) A24l A5 A 39 A1




